


СОСТАВ ЧИСЛА 2

2  –  это  1  и  1        

2 – 1 =

2 22 2 2

1 11 1

1 + 1 = 2 – 1 = 1 + 1 =

1 + 1 = 2 – 1 = 2 – 1 = 1 + 1 =

2 – 1 = 1 + 1 = 1 + 1 = 2 – 1 =

1 + 1 =

1 + 1 =

2 – 1 =

2 – 1 =

1 + 1 =

1 + 1 =

2 – 1 =

2 – 1 =

. Раскрась.

. Выучи.

. Реши  примеры.

3

. Вставь  число.
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СОСТАВ ЧИСЛА 2

1 + 1 = 2 – 1 = 2 – 1 = 1 + 1 =

1 + 1 = 2 – 1 = 1 + 1 = 2 – 1 =

2 – 1 =

1 + 1 =

1 + 1 =

2 – 1 =

2 – 1 =

2 – 1 =

1 + 1 =

1 + 1 =

1 + 1 =

2 – 1 =

2 – 1 =

1 + 1=

1 + 1 =

1 + 1 =

2 – 1 =

2 – 1 =

. Вспомни  состав  числа  2.  Раскрась.

. Реши  примеры.

. Вставь  число. 2 22 2 2

1 11 1



СОСТАВ ЧИСЛА 3

5

3  –  это  2  и  1        

3  –  это  1  и  2        

3 – 1 = 2 + 1 = 3 – 2 = 1 + 2 =

1 + 2 = 3 – 1 = 2 + 1 = 3 – 2 =

2 + 1 = 1 + 2 = 2 + 1 = 2 + 1 =

3 – 2 =

1 + 2 =

3 – 2 =

3 – 1 =

3 – 1 =

2 + 1 =

1 + 2 =

3 – 1 =

. Раскрась.

. Выучи.

. Реши  примеры.

. Вставь  число. 3 33 3 3

2 11 2
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СОСТАВ ЧИСЕЛ 2 и 3

2 – 1 = 2 – 1 = 3 – 2 = 1 + 1 =

2 + 1 = 1 + 1 = 2 + 1 = 2 – 1 =

3 – 2 =

3 – 1 =

2 + 1 =

3 – 2 =

3 – 2 =

3 – 1 =

3 – 1 =

3 – 2 =

1 + 1 =

2 – 1 =

1 + 2 =

3 – 1=

1 + 1 =

1 + 2 =

1 + 2 =

2 + 1 =

. Вспомни  состав  чисел. Раскрась.

. Реши  примеры.

. Вставь  число. 2 33 2 3

1 12 1
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СОСТАВ ЧИСЕЛ 2 и 3

– 1 = 1

– 1 = 1

+ 1 = 2

– 1 = 2

– 2 = 1

+ 1 = 2

– 2 = 1

+ 2 = 3 + 2 = 3

+ 1 = 3

+ 1 = 3

+ 2 = 32 +          = 3

1 +          = 3 1 +          = 2

1 +          = 2

1 +          = 23 –          = 1

3 –          = 1

3 –          = 1

3 –          = 2

2 –          = 1

2 –          = 1

3 –          = 1

. Вспомни  состав  чисел. Раскрась.

. Число  сбежало. Какое  это  число?

. Вставь  число. 3 23 3 3

2 12 1
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СОСТАВ ЧИСла 4

4 – 1 = 3 + 1 = 4 – 3 = 4 – 2 =

4 – 2 = 2 + 2 = 3 + 1 = 1 + 3 =

3 + 1 =

4 – 3 =

4 – 1 =

1 + 3 =

4 – 1 =

4 – 3 =

2 + 2 =

4 – 3 =

2 + 2 =

1 + 3 =

4 – 3 =

4 – 1 =

2 + 2 =

1 + 3 =

4 – 1 =

3 + 1 =

. Раскрась.

. Реши  примеры.

. Вставь  число. 4 44 4 4

1 32 1

4  –  это  1  и  3        

4  –  это  3  и  1        

4  –  это  2  и  2        

. Выучи.
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СОСТАВ ЧИСла 4

4 – 1 = 1 + 3 = 3 + 1 = 4 – 2 =

4 – 3 = 4 – 1 = 1 + 3 = 2 + 2 =

4 – 1 =

4 – 2 =

3 + 1 =

4 – 1 =

4 – 2 =

4 – 3 =

4 – 1 =

3 + 1 =

2 + 2 =

4 – 1 =

4 – 3 =

4 – 2 =

2 + 2 =

4 – 1 =

1 + 3 =

4 – 3 =

. Реши  примеры.

. Вспомни  состав  числа  4.  Раскрась.

. Вставь  число. 4 44 44

2 31 13
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СОСТАВ ЧИСла 4

. Вспомни  состав  числа  4.  Раскрась.

. Число  сбежало.  Какое  это  число?

. Вставь  число. 4 4 4 44

1 2 2 23

– 2 = 2 – 1 = 3

– 3 = 1

+ 2 = 4

– 1 = 3 + 2 = 4

+ 1 = 4

+ 3 = 4

+ 3 = 4+ 1 = 41 +          = 4

1 +          = 4

2 +          = 4

4 –          = 2

4 –          = 2

4 –          = 23 +          = 4

4 –          = 3

4 –          = 1

4 –          = 1

2 +          = 4

2 +          = 4

2 +          = 4

2 +          = 4


	Пустая страница

